55 443 [{]

RIRE 1996 FEDEEIRFORIRES & U8
ROBINMIEZ X,
1) cosb0 = f(cosO) &/~ ZIHEN f(x) ZRD L,

T 3 Tr
2) COS COSy COS—5 C

3) cos70 = f(cosO) &/~ HIHEN f(x) ZRD L,
3T Sr 97 11z 137

os% DIEZRD L,

T S
<4> COSﬁ COSﬂ COSW COSW COSW COST @4‘5%*&);0
= ; N R b
G 6 LSy EBEWT, cosfcosdh cos50---cos(4n +1)0 DIEZFFEHL X,

272U, cos(2n+1)0 13BR<,

S

1) 2f5A, 3EADANIIBEME TS,

c0s50 = cos36 cos26 — sin 30 sin20 = (4cos®0 —3cos0)(2c0s?0 —1)—(3sin § —4sin®6)-2sin 6 cosd
= (4c0s®0 —3cos0)(2c0s?0 —1)—2cos 8{3(1 — cos?0) — 4(1— cos?8 )%
= 16c0s°6 — 20cos3 @ + 5cos

ZIT, cosf=xtBLL, cosbd =16x>—20x%+ 5«

£oT, flx)=162°—202°+5x &

2 T, floy=0EL, x=0, 16x*—20x2+5=0--@

O 4 [BOROTHE, BLFREOBEDS, —
N _, " L, 4dn+1
_‘7.5, COSS@ =0 &j:)< t, 50 - i7 +2n7r (% li%&) . 0 - Tﬂ'
- 4 3 S5r 1 I
0<0=<r OHFEDREL, 0= 0’ 10’ 10’ 10’ 10
ZODHRT ¢9=ﬁ N&x cosz =0 THENS, ThEBL, cos— cosﬁ cosﬁ cosﬁ I
’ 10 = 10 T R 10 ° 10 10 ° 10 ™

TR BN T c0sSE costE cosIE = 2
QD A EOfRL 72515, cos 15 €°STp COS 1o %S Tp 16

3) (1) D5EADAR cos5d = 16c0s®d —20cos® 8 +5cos8 [ZHWT, 0 % %—0 ITBEXHz 5L,

sin50 = 16sin%6 — 20sin3@ +5sin @ THh 3,

cos760 = cosbf cos26 — sinbf sin26
= (16c0s°8 — 20cos® @ + 5cos b )(2cos?0 — 1) —(16sin°f — 20sin®6 +5sinf)-2sin § cosd
= (16c0s®6 —20c0s® @ + 5cos6 )(2cos?f — 1) —2cos 0 {16(1 —cos? ) —20(1 — cos?0 )>+ 5(1 — cos?6 )}
= 64cos” 6 —112cos®d + 56co0s®§ — 7cos 0

ZIT, cosf=xbBLL, cosTl =64x"—112x°+56x°—T7x

0T, flx)=064x"—1122°456x° -T2 (B




4 Q1T flx)y=0L,BL, x=0, 64x°—112x'+56x2—-7=0---Q

@ 4 EDIRDORL, BRLARKOBERNS, E_47= _%
—%, cos70 =0 B &, 70 =+ +2nx (nI3BH) .. 0= 4%117r

2 14
Zx 3z 5w Tx 9z lz 13z
147 147 147 14 14’ 14 14

ZDHFT, 0:% N x, cos%zo THdEMNH5,

0<0 <z OHEDREIL, 6=

T 3 5m 54 11x 13x .
hd = Pt Pt Pl Ealubadl v f)
ZhERR<, cos 170 COSqg s COSIp» COSTp, COS—Tr, COS—7 1%, @D 6 EDERL 7505,
3r Sm 97 11z 137 7

T
COSg COST7 COST7 COoS7 7 14 T~ &

14 CO

G 6 =m®t%, cosf cos36 cosb50---cos(dn +1)0=c, LB, 722U, cos(2n+1) IFkKR<,

1] =10t %, 02%’6‘, ¢; = cosf cos50 = cos

5 1, 2241
16 22-2

7 2:3+1
C3 = _m = <_1)3 023

bt V3 VBN 2141
66 2

COS— = —5— 7 oo

2] n=20r%, ¢,= (=12

B3] n=30DL%,

_2n+1

C}:Of’ cn:(_l)n 22n

LEHINDS, B

2, WDEIIFHETDL, KDDIARDIEIL, cos2n+1)0 % cosd DZEATRUZL X, fRLIOBEFRENS,

cosf DRI _
cos™ 1 DIREX ©HS,

[2/2] (—1)"
BEAREN (ROE-ME, SEeE, P18 IHBHIN TS cosnd = X % C,(2c080 )"=2 {ZDW
r=0 -

)n—r 7

T, n&2n+1 IZBXHZZL, cos(2n+1)0 —n (=1y(2n+1)

00unrl_r g \2n+l-2r
= 22n+1—7) ms1-,Cl2c080))

cos2t+1@ 0){%%( (720 0)&%) . 2(221’;—:_11) 22n+1 — 92n

L (=D"2n+1) o — (1w
: Z(n——kl)”“c” 2 =(-1)"2n+1)

cos DR _ (=1)"2n+1)
COSZ” +1 ] @{%ﬁ 22n

cost DI (r=nDeX)

£2T,




BNREE 1

A, B, ClE1DEIN]1 DIEE=ZAFDIERT, A
i CA, IBABIFHE 1 OMEITH B,

BC, 9 CA, il AB THIN/=HFOHIZEWN
EyoHRM2EL 2 1 23 E 5,

FH, ZAD¥EEzZzhThRD L,

¥ ki
B G
FRORME O, (1), ZA% O,(r, LHF, EDE> BRI, A
AOECIZDWT, OE=7,, EC= rl—l——;, C0\=1—7, THEMD,
1\2 =
SEHOEEIZ LY, r12+<rl+7> =(1—r)
1,12+371__Z:0 ...@ 7 :_SiTm
_ o
7 >0 £V, ’1:3+Tm (= 0.232051) .
>9u:, AOZOlF C:OLVC, 0201: 7, +7’2 y OlF: 7, ‘@&)673\6, =
B E D

SFAOEBICLY, OF=/(r+7) —n® =2nn+n’

?I—IE"),C, AOzDC ‘:OL \f, 02D202F+FD: A/ 27’1"2‘*‘ 7’22 + 71, DC: % N C02: 1—72 ’CZF)%?)WS,

STAOEEIZLY, ( 21'172+1'22+rl)2+<—;>2=(1—72)2

3

ERUTHIETD L, 2r/2r7,+ 7, =7- rn2=2(1+7r)r,

2
W% 2 LT 7, [DOWTIIHRT 5 &, 4(1+271)722—(3+371—41'12+41'13)72+<%—712> =0 @

DLV, 3+3r,—4dr2+4r} = <712+371—%>(471 —16)+ 54, —9=9(67, —1),

N — o of 3 _ s
<Z—rl> = (37) —9<Z—371> =ZL(1—4r) THEIMS,

@i, A1+ 2r)r,>—9(6r,— 1)7,+ %(1 —47,)=0
- 4 . 4y, \2 4r,

n= " eiaray, AV5-U(5E] 668 —5) ) +37-4/5)=0

W (V3 1) 25, 4<ﬁ>2_12(2_ﬁ><ﬁ>+3<—5+3ﬁ> 0

3 3

<%>2—6(2—ﬁ)<%>+ 3(—54+3/3)=0



=32-V3)E V(=32 VB -3(-5+3/3) =32-V3)£V/T8-453
©2T, 78-45)3 = 3<52—2¢152-3> _ 3<3J§—5>2 _ <9x/7;5\/€>2'63657b>6,

87, _ 9f 5«/5“ .- 362—/3)£(9V2 —5/6))
3 2= VE)E o 16
I, 3{6(2_ﬁ)_1§59ﬁ_5£)} =021, 3{6(2_ﬁ)+1§59ﬁ_5£)} = 0.39 THBN5,
EEICET B0, 7, = S0PV lléw_ﬂ‘w_ (+0.211354)
&oT, kDBHZHDERE,
- —3+22ﬁ’ . 36—27ﬂ—1168ﬁ+15ﬁ &
EENNMEE 2
A, B, CR1IDNEXN1 DEZAFDIEST, A
L CA, SMABIF¥E 1 DMIITH 5,
BC, 5 CA, il AB THEN/ZKFDFIZHWNT
BIoHM2MEL M1 E2zN#EIE5,
HHA, ZHO¥REZThZThRD L,
b ¥
B @
ERIORMZ Oy (1), ZH% Oy(r,) L BE, D
XD &S5 5 21T 5,
ADHO; 122\,
DH=@—71, HF=1, O,D=1+47, TH215,
2
=FHDEERIZLY, <§—rl> +(1=r)2=(1+7r)?
Ha
—(4+J3_)rl+%=0
, 4+J_+«/4+ _ 4+3 123 +1)
1
2
n<g &9, n= 4+ﬁ_22<ﬁ+1> = 2—2ﬁ (= 0.13397)

Kz, AOOFIZDWT, 0,0,=r,+7,, O,F=7r, THEMN5,
SFEADEHICEY, OF=A/(r1+7) —n? = 2nr,+7

AO,AD 12D\, 02A=EA—EF—FOZ=@—rl—«/%’lrzﬂ—rzz , AD=1, DO,=1+7, THEMS,




ZFHEDEHRIZLY,

/T~

2
73_7’1_«/27’1724_7’22) +12=<1+7/2>2

BRI THBIETS L, Z—ﬁrl+rlz—2(l—rl)rzz(\/_—271)«/27172+722

w

2—

n= zﬁ ERATRL, 22-V3)=V37n=2/3 —1/@= B+’

FBOE2FE LT 7, 2 OWTEE T2 L, (—13+803)r,2—4(11—643)7,+ 47 —4/3)=0
MBI (13+8V3) 28I 2L, 237,2—4(—1+10/3)7,+4(—5+4/3)=0
IO 2RFEROEBIRE D LB L,

% ={—2(—=1410/3)}>—23-4(—5+4/3) = 64(26 —7/3) = {4(7\/2 —/6)}2 &V,

. = 2A—=14+10/3)+ 472 —/6) _ 2(—14+10/3+27/2 —./6))
2 23 N 23

ZZT, 2{_1+10ﬁ;32<7ﬁ_ﬁ)} =0.12, 2{_1+1Oﬁ;32<7ﬁ_ﬁ)} =27 THEMS,

BRI 30, 7= AL UVZHI0VEH2VE) (100500

2 23
&-oT, KOLHZHDFE,

L 2—3 2—1-14y2 +10/3 +26)
G 2 23 &

VA

(2024/6/23, 6/303TEE ¥ a—H—)



